Punnett Square Practice

For all problems assume: having a curly tail is dominant over a straight tail.
1.  In pigs, having a curly tail is dominant over a straight tail.  Cross a male that is homozygous for a curly tail and a female that is heterozygous for a curly tail.  



2.  A male pig that is heterozygous for a curly tail mates with a female that is heterozygous for a curly tail.  Fill out a Punnett square to predict their offspring’s tail.




3.  A male pig that has a straight tail mates with a female pig that is heterozygous with a curly tail.  Complete the Punnett square below.




4.  A male pig has a straight tail and mates with a female that has a straight tail.  Complete a Punnett square to predict their offspring’s tail.
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